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Power Roll

Variable & Expression - % % % Proposer: enderpalm
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Define the random matrix function and plug-to-pole vector as:
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Then, The Ngixx-Parinthorn extension plug desirability index is:
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Where:
A: Ngixx-Parinthorn extension plug desirability index (NP)
0: Today’s random angle chosen by Ngixx (deg)
Py Py: components of vector from Croissaria’s North Pole to Plug (m)
I: Current rating of the extension plug (A)
V' Voltage rating of the extension plug (V)
L: Length of the extension plug cord (m)
H: Hirhun’s variable to make the unit make some sense :)
d: Render distance (chunks)
e: Euler’s constant (hint: use exp())
P: Parinthorn’s constant = 3.28
S: Sayhi’s constant ~ 1.15112
N: Ngixx's constant & 4.80852
D: DayDoi’s constant = 69
Lo: Characteristic Length per Radian = 13.0725 (m/rad)


https://drive.google.com/file/d/1RCvW9YlC5WAVgl1HKI_NdBr7g-4rQ19p/view?usp=sharing
https://drive.google.com/file/d/171TxTUP4cpF4eby0_F-zIVFd9rWqSdjk/view?usp=sharing
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Useful stuffs na ja eiei:
|a]: absolute value of a

[a]: ceiling value of a

la, b] {e] — [“'B“L bf ] (matrix - vector multiplication)

c d|l|f ce + df
_ log,.a
logf) a = log,. b
T~ 3.14159
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(— 720° < 0 < 720°; — 1033pr,pys 107; 0.1 < d < 6.4)
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hint: wasasaidusidon lneld rad = deg « G20 #l9ian)

JaNARIDDN

fiussvimber Wuarmuinlduasuan (A1 A) anugqentiae NP (Rudadasineg
IagmauAnlduuuiinatiauléduings 4 sy
(hint: 1% round(x  1e4) / 1e4)
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